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Emgrhip/oiou = (2932,94)+(0,20",57)+(3,43°2 52)+(1,53"1,52)+2,03=21,932
Oykog -//- = 2193°310 = 67,982

5 ME A A s B L. Emgp.Sicp/Tog B1=(7,29°5,08)+(1,37*6,66)+(1,57"6,44)+(2,0041,25)°0,47=57,822
Béhanioe S — : Oyrog -//- = 57,82'3,10 = 179,243

GH’EU.’\EL?F h ,I'- : e = = Emg.Siap/Tog B2=10,33"5,08)+(0,80"2 70)+(0,746°3,97)+(2,00°0,47)=58,59u2
= : I Owwog -f/- = 58,59"3,10 =181,63u3

aTRpa
Emg.diap/Tog B3=(0,76"3,97+(1,91°5,50)+(5,44+5,38)/ 2°8,02+(2,00+1,25)°0, 47=58 432
Ovyrocg -//-=58,43°3,10=181,33u3
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